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f=input('Input Fahrenheit temperature: ');

c=5*(f-32)/9
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SPAT RN, PATROLN:

Input Fahrenheit temperature: 73

c =
22.7778
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TET2:
B SEEM RBOF2c.m.
function c=12¢(1)
c=5*(1-32)/9
R IGFEMATLABH] -2 & H i F 2% B
clear;
y=input('Input Fahrenheit temperature: ');
x=12¢(y);
an H F LN :

Input Fahrenheit temperature: 70
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1. BB (2=43-2examp3 2.m)
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xm=input('What's your name?','s");
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x=input('Input x please.');
y=input('Input y please.');
7=X;

X=Yy,

Y=Z;

disp (x);

disp (y);
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(2) W43 >ZifiEh):
if 2k
Ea)Al

else

=Ea)2H2

end
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x=input("{Eam A xHI{E:");
if x<=0
y= (x+sqrt(pi))/exp(2);
else
y=log(x+sqrt(1+x*x))/2;
end
y
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2. switchi&H]
switchiBAJIRIBEREAXWBUEANF, 2R34T
ANFERER, EiEAEAN:
switch FTIEZH
case RIBAL g0 EERm

Ba)Al BA)Hmn
case RIBEA2 otherwise
T=a)2H2 EA)2n

end
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500<price<1000 5%##1
1000<price<2500 8%%7#1
2500<price<5000 10%3TH1
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AT
price=input("FH AR U k%');

switch fix(price/100)
case {0,1} %S ZNTF200
rate=0;
case {2,3,4} Yo KT T200/E/NT500

rate=3/100;

case num2cell(5:9) %M ATZET500/E/DT1000
rate=5/100;

case num2cell(10:24) %M AT T1000/E/)MF2500
rate=8/100;

case num2cell(25:49) %M NT & T2500/E/hT5000
rate=10/100;

otherwise %A% K TEET5000
rate=14/100;

end
price=price*(1-rate) %% H B LR BT
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3. tryi&f)
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try
EAA1
catch
Ea)2H2
end
tryis
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A=[1,2,3:4,5,6]; B=[7.8,9;10,11,12];
try
C=A*B;
catch
C=A.*B;
end
C
lasterr Y m s HaE R R
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for m=100:999

m1=fix(m/100); % Rmp] B DL
m2=rem(fix(m/10),10); % >KmH+HrEF
m3=rem(m,10); % Ruf LB
if m=—m1*ml1*ml+m2*m2*m2+m3*m3*m3
disp(m)

end

end
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